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@
A= 4.000 x 3.500 x 2
A= (3.540 + 3.460) x 2.500
A
v= (7.000 + 7.000) x 2 x 2.200
“)
Al = 0.148 x (1.800 + 1.800) x 2 x 2
A2 = 0.030 x (1.570 + 1.570) x 2 x 2
®)
, m2 45.51
m2 45.50
m2 61.60
m2 2.51
m2 155.1

.51 m2



SD345

(ko) (kg) C D
D51 0 D51 0 0
D41 6905 D41 6905 0
D38 2559 D38 2559 0
D35 0 D35 0 0
D32 0 0
D29 1502 D29 D32 1592 0
D25 4781 0
D22 3281 0
D19 2 D16 D25 9866 0
D16 1090 0
D13 0 D13 0 0

20922 20922 0

(038 D51 )
9464
= = = 0,
20922 45%

0L In|[1 L 2n]2 L 3m|[3 L 4m|4 L 5m[5 L 6m
D13 - - - - - -
D16 - - 129 - - -
D19 - - - - - -
D22 - - 69 - 46 -
D25 - - 42 - - -
0 0 240 0 46 0

286
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1200 50g 7000 50d_1200 1200 50 7000 50d 1200 |
9200 9200

H 30m

160.8 m2

Al= 6.00 x (8.70 + 4.70) x 2

A2= 2.20 x (9.20 + 9.20) x 2 81.0 m2

241.8 m2



3.6

1Y)

2)

3.7

3.8

3.9

1.800(

1500

1025

4565

3540

1500

975

3460

4435

0.000

1/2 x

1/2 x

(ock
7.200 x 7.200

44.80 x 0.100

(

(7.200 + 7.200)

(RC-40, £=200mm)
7.200 x 7.200

44.80 x 0.200

1250

1250

2500

A\

N\

/4

2

/4

H 30m
(4.565 + 3.540) x

H 30m
(4.435 + 3.460) x

X

1.250 x

1.250 x

X

18N/mm2, t=100mm)

1.000

0.100

X

1.000

2.500

2.500

X

X

1.000

1.000

40<f  8OKN/m2

40<f  8OKN/m2

X

X

9

9

12.

12.

w

m3

25.

44.

44.

o

m3

8 m2

.5m3

.9 m2

8 m2

.0m3



3.10

a-a b -0b
1800 1800
115 1570 115 115 1570 11p
) 1390 5( 4, 1390 50
i D 1]
EL1 EL1
s L4
. 2 st . e
E ] T e
| | | |
= 9 ! ‘ ; ©85-6 - S ! i ‘ 0856
< [ ! < imlim
5 %‘L
295 800 ‘295 295‘400 400‘295
@ = 250 mm
n = 6 X 2 = 12
I = 1.240 m
L= 1.240 x 12 = 14.9m



3.11

2300

2300

2300

2300

1500]

1820

1000,
RSt

1500,

N
3320
1820

1000
e —a ]

€y

<
1

@

®

<
1

*

p=d
1

A

11.600 x 11.600 x

B

11.600 x 11.600 x

446.7

7.200

7000

Im 4am

X

< < < < <
[ L VN P 1|

11.600
4.000
7.000
7.200
7.200

277.7 / 0.9

7.200

- T1U/4

1.500

1.820

X X X X X

11.600
2.500
7.000
7.200
7.200

446.7

X

X X X X X

1.000

N

=

0.300
0.520
2.200
0.100
0.200

169.0

x 1.000

X

9

201.

244

8 m3

9 m3

>V

446.

40

107

10

7 m3

-4 m3
-2 m3
-8 m3
-2 m3
-4 m3

169

277.

138.

44.

.0m3

7 m3

1m3

8 m2



— 1

008, r 00T. r 00€8T 0018 , 00 000TT
| | i |
e
0002T 00ZT S|& 000zt , 0055 i , 000TT
| 78 |
o
©
o
n
| | . |
Eee—=—r—--0__-- - .- -~ EESSSsaaSe
— e SENNESSSEESSS
| | | e -
SESSHESESSSSSSESSSS
[ | |
00VYNS oowzzw
uuaT=y | [l 00PS 00VYINS
0008 0goy duzr=3 wzT=1 7
0002T | boozt , 000ZT
—
NS
N
(=3
T2}
= \ &&
- | \ g
j=3
o
N E
oo
— O i
ST i w
=+ o
ma o
x —o

uOQ@OOQ@OOQm

100
102

n
< <

3.12

96.000 m

L

¢ 1000



1) 1
(mm) (kg/m) (k) (k)
1000  t=18] 8,000 1 436 3,488 3,488 |  SKK400
1000  t=12| 4,000 1 292 1,168 1,168 |  SKK400
1000  t=12| 12,000 6 292 3,504 21,024 |  SKK400
1000  t=12| 12,000 1 292 3,504 3,504 |  SKK400
29,184 kg
PL 25 > 12| 2,956 2.36 6.98 13.96 | SS400
PL 25 < 9 50 1.77 0.0885 0.53 |  Ss400
PL 50 > 4.5] 3,052 7 1.77 5.40 37.80 | 55400
PL 6 < 12 30 42 0.565 0.0170 0.71 |  Ss5400
PL 300 < 12| 3,179] 1 28.3 89.97 89.97 | ss400 |
sL
PL 200 < 12| 3,179] 4 18.8 59.77 230.08 | ss400 |
382.05
PL 100 < 16| 120] 16 12.6 1.51 24.16 | sm490A |
24.16
KL D38 3,570) 20 8.95 31.95 639 |  SD390
K2 D13 3,850 12 0.995 3.83 46 | sD345
K3 D13 2,970 6 0.995 2.96 18 | sD345
639 kg(SD390)
64 kg(SD345)
29,184 kg(SKK400)
382.05 kg(55400)
24.16 kg(SH490A)
SL A= 1.00 > 7T > 39.00 = 122.5 m2
9
1
1000 | t=18 | kg 3,488 31,392 |  SKK400
1000 [ t=12 | kg 25,696 | 231,264 |  SKK400
kg 29,184 | 262,656
D38 kg 639 5,751 | sD390
D13 kg 64 576 | D345
kg 24.16 217 | SM490A
kg 382.05 3438 | S5400
sL m2 122.5 1102.5




2)

3)

4)

5)

<
1

Ly= TT > D >

>l= 6.28 X 9

o ck=30N/mm2
TT/4 > 0.964° > 1.810
1.321 > 9

(t=9mm)
TT/4 > 0.964°
( 0.73 > 0.009 > 7850 kg/m3
0.73 > 9

6.28 m

56.5m

1.321 m3
11.9 m3

0.73 m2
51.57 kg)
6.57 m2

3.03m
27.27 m

63



6)

V= 7t/4 > 1.00° > Ln

L1><N1 L2>N2 L17>N17
>L
L(m) V(m3)
1 1 1 1
1 B2 4.80 43.20 3.8 34.2 6
2 As2 7.80 70.20 6.1 54.9 7
3 Asc 7.10 63.90 5.6 50.4 5
4 Acl 18.30 164.70 14_4 129.6 2
5 Dgl 8.10 72.90 6.4 57.6 34
6 Dcl 2.90 26.10 2.3 20.7 11
7 Ds1 1.00 9.00 0.8 7.2 17
8 Dc2 11.00 99.00 8.6 77.4 6
9 Dg3 2.00 18.00 1.6 14.4 20
10 Dc3 6.10 54.90 4.8 43.2 11
11 Dc4 10.10 90.90 7.9 71.1 16
12 Dg4 6.75 60.75 5.3 47.7 29
13 Dc5 1.40 12.60 1.1 9.9 18
14 Dg5 4.75 42.75 3.7 33.3 40
15 Dc6 1.90 17.10 1.5 13.5 21
16 Dg6 2.10 18.90 1.6 14.4 69
17 Psct 2.82 25.38 2.2 19.8 83
98.92 890.28 77.7 699.3
N = 16.6
>V= 699.3 699.3 m3



P1

3.1 P1

(SY295)

L=8.5m

(Nmax
50)

9.0m

116

9.0m

73

37.23

21.93

H-350>=<350><12>=<19

6.60

H-350>=<350><12>=<19

3.89

(

10.49

><0.22

2.31

=<0.04

0.42

13.22

13.22

12m

L=8.5m

59.16

10.49

><0.22

2.31

71.96

12m

L=8.5m

37.23

10.49

><0.22

2.31

50.03

L=0.5m/

43

0.06 /

1.29




3.2 P1

(-1

L=8.5m

L=8.5m/

N 50

11600 11600
2300 7000 2300 2300 7000 2300
i ‘ i \m m
| |
L=10.65n ‘ L=10.65n L=11.35n ‘ L=11.35n
3507350 1219 | H 350=350= 1219 3507 350= 12 19 | 350350 <1219
TP+2.600( ) TP+2.600( )
TP+2.100( ) 3 TP+ 2 209 ( ) 3]
Ei’ I 600 Tooe g | TS i | HIRE: =
N S — g A R S E— | g
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1=8.500m,N=116 | | =8.500m,N=116 || |
| |
il || _tp-5.900 ni 1 _1p-5.900
“ 2
20x400=11600
- 1bs 11350
2475 000 os0 000 2475
IS No.1§+12.457
/_/—/’ — T /350<350H 1219 YTON ? FH=1(.933
i N L=4.66n
//Y//Tj"/_z‘tﬂ. i H35[]=350= 1219
/ ,mnzgo%%ﬁ | "
i il =
| T J . g
TT 7 / ‘ | N S g &
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e \ BAN ¢
i ) ; Gl ||
A
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g
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5 fr S g &
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Lt S Ti 7
8 ] 2
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| = N
e — i—
_ L ‘ R3T(0)02
L=10.650 T_P.+2.100
350 350<12%19 i l L102.00m
3p0 000 2300
] 29x400=11600

L=8.5m
(8.8+11.6+8.8)/0.40
73><8.50><60.0

L=8.5m
(2.8+11.6+2.8)/0.40
43>=<8.50><60.0

73+43

(Nmax 50)

(Nmax 50)

9.0m

9.0m

73
37,230

43
21,930

116

73

kg

kg




H-350><350>=<12>=<19

11.35%2>=150.0 3,405 kg
10.65>=2>=150.0 3,195 kg
H-350><350>=<12><19
4.66><4>150.0 2,796 kg
1.83%<4>=150.0 1,098 kg
10,494 kg
10494><0.22 2,309 kg
B 10494><0.04 420 kg
13,223 kg
13,223 kg
12m
)
37230+21930 59,160 kg
10,494 kg
A 2,309 kg
=W 71,963 kg
)
37,230 kg
10,494 kg
A 2,309 kg
=W 50,033 kg
N= 43
W= 0.5><60>=<43 1,290 kg



6408

1680 3048 1680

10.340m

1680

5x10

510 %

27,870

9144
12504

N\ AN\

5x10

1680

A=65.012

A=27.871+((10.340+23.672)*2)=95.895 95.90n2

$=1/50
1-1
6408
1680 2048 1680
GH=3.400 p
¢ [ el
< > 5
& S g
2-2
12504
1680 9144 1680

5%20 % 5%20 a
643,400
TR

L
4
A
%
>
1400

1M |1 m @2)
3.048 | 9.4 | 27.871

1M1 m (m2)
6.408 | 12.504 | 80.126

1.400 | 75.60

75.6(m3/ )><3( )=226.8
1 #3000
95.9(m2/ )><3( )=287.7
1,524><6,096><25mm
a / )><3( )=12
62
(1524<6,006=25mm) 1.823( / )><4( /  )<3(  )=21.876
1.524<6.096><12 111.48
1,524><3.048><25mm
6( / )><3( )=18
62
(1524<3,04825mm) 0.911( / )><6( /  )=<3(  )=16.398
1.524<3.048<18 83.61

230

290

12

21.88
111.5

18

16.40
83.6
0.78

2.2
0.78
2.2

m2

m2

m3

m3




Im

$3000

><100kg/m3

4m

NN-10

600m3

60

50m3

40><35
40>=<35

600m3-50m3 550m3

600

60

50

1400
1400

550

m3

m3

m2
m2

m3




